Adding Decimals to Tenths (A)

6.1+52=

84+1.1=

9.1+8.7=

92+14=

3.3+1.6=

7.7+6.2=

3.3+2.7=

6.9+5.2=

84+ 7.7=

7.2+6.1=

Calculate each sum.

4.7+ 3.9 =

5.6 +3.7=

41+18=

8.6 +4.2=

8.3+29=

6.1+05.3=

6.9+59 =

8.6 +84 =

5.4+ 3.5 =

91+13=
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Adding Decimals to Tenths (A) Answers

6.14+52=11.3
84+11=95
9.1+87=1738
92414 =106
3.3+16=49
77+62=139
33+27=6

6.9+52=12.1
8.4+ 7.7=16.1
7.24+6.1=13.3

Calculate each sum.

4.7+39 =286
5.6+ 3.7=9.3
414+1.8=59

8.64+4.2 =128

83+29=11.2

6.1+53=114

6.9+059 =128
8.6 +8.4=17
54 +3.5=289

91+13=104
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